
36''29'' 29''

82''

10''

3''
15''

183''

44''

EXISTING  BRICK WALL

3'' BLACK ALUMINUM
 RED RETURNS

 3/8" -3'' ANCHOR BOLT

1'' PVC STANDOFF 
0.75'' TRIM CAP

WHITE BACKLIT LETTERS

FABRICATION

Circular logo, box sign:
To be 3'' aluminum channel coil (red)
white acrylic
Vinyl 3m 3630   red
Vinyl 3m 3630   black  
1'' trim cap red
Illumination to be 7500K led module, white, 1.2W ea.
MAX led modules used QTY: 30
Weight MAX 15lb

Letters:
To be 3'' stainless steel coil (white)
stainless steel face(white)
.4'' clear lexan for back of the letters
Illumination to be 7500K led white, 1.2W ea.
Total MAX led module used QTY: 70
Weight MAX 3.5lb

Back panel raceway
See sheet 2

SIZING:    183''X44''=56 SQFT

SIGN SIZING

SHOP DRAWING

Scale: 1'' = 1'

Scale: 1'' = 1'

SIDE VIEW

LETTER DEPTH: 3''

FRONT VIEW

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

PROJECT #: JJ-21-88010-VIVI

UL CERTIFIED SIGNAGE  

LONG AND YANG LLC

SIZE D SHEET 1 OF 2

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
LONG AND YANG LLC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
LONG AND YANG LLC IS 
PROHIBITED.

PRODUCT DESCRIPTION     

LETTER SIZE:  

PER DRAWING

LETTER FONT:

PER DRAWING

ENVIRONMENT: WET AND DAMP

CLIENT SIGNATURE:

DATE:

DRAWN:  LL DATE:  01-12-22

INSTALL LOCATION:

APPROVED BY/ DATE:

2441 76TH AVE SE, MERCER ISLAND WA 98040



26''  x8

150W transformer 110V-230V to 12V.
UL Listed
Water approved

UL listed Switch

Wiring box

1.5'' X1.5'' X0.125'' 
Aluminum Angle Iron Frame
Weight: 40LB

ACM Board 1/8''
Painted Black
mounted to angle iron frame

3/8'' Anchor Bolts
MINI QTY:16 

#10 Self Tapping Screw

1.5'' X1.5'' X0.125'' 
Aluminum Angle Iron Frame

INSTALLATION:

  THIS SIGN IS INTENDED TO BE INSTALLED TO ACCORDANCE WITH THE REQUIREMENTS OF ARTICLE 1.
       600 OF THE NATIONAL ELECTRICAL CODE AND/OR OTHER APPLICABLE CODES. THIS INCLUDES PROPER
       GROUNDING AND BONDING OF THE SIGN.

2.    THE LOCATION OF THE DISCONNECT SWITCH AFTER INSTALLATION SHALL COMPLY WITH ARTICLE 600.6(A)(1)
       OF THE NATIONAL ELECTRICAL CODE.

3.    3/8'' - 3'' ANCHOR BOLTS MINI QTY:16 ATTACHED TO THE WALL  (SIGNAGE MAX WEIGHT 230LB)

BACK VIEW
Scale: 1'' = 1' Scale: 1'' = 1'

ASSEMBLY VIEW

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

SHEET 2 OF 2



DESIGN DOCUMENTATION  /  JANUARY 4, 2022 3

COMPONENTS

HOURS OF OPERATION

SUN
MON
TUE
WED
THU
FRI
SAT

11:00 AM - 9:00PM
CLOSED
11:00 AM - 9:00PM
11:00 AM - 9:00PM
11:00 AM - 9:00PM
11:00 AM - 9:00PM
11:00 AM - 9:00PM

DESIGN CONCEP T
SIGNAGE & GR APHICS

A Exterior Identity Signage

B Entry Identity Graphics

C Garage Graphics (Not noted)

A

B


	Sheet1
	Drawing View8
	Drawing View9

	Sheet2
	Drawing View10
	Drawing View12


